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Name ______________________________________________  Date _____________________ 

7th Grade Math Florida F.A.S.T. Test Prep 

1. Solve for y.

𝟏𝟎𝒚=100,000 

A. y=10 

B. y=100 

C. y=5 

D. y=50 

2. Which expression is equivalent to the following expressions?

(5a + 7) + (2a - 3) 

A. (7a + 10) 

B. (7a + 4) 

C. (3a + 10) 

D. (3a + 4) 

3. What is the area of the following figure?

A. 56 square cm 

B. 16 square cm 

C. 224 square cm 

D. 32 square cm 

4. The data set has a mode of 12.

2, 3, 4, 5, 6, 6, 7, x, 12, 12, 14. 

What is x? 

A. 12 

B. 11 

C. 10 

D. 9 

5. What is 3 ½ as an improper fraction?

A. 4/2 

B. 3/2 

C. 7/2 

D. 5/2 
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6. 4(-4a +3) - (3a - 6)

Which expression is equivalent to this expression? 

A. (19a +6) 

B. (-19a +18) 

C. (-13a + 18) 

D. (13a + 6) 

7. Lily’s family is building a new pool in her backyard. Below is the shape and dimensions that

her parents have decided upon. What is the area of the pool going to be? 

A. 192 square ft 

B. 200 square ft 

C. 182 square ft 

D. 167 square ft 

8. Mr. Peterson compared the grades of this year's class versus last year's class, and collected

them on two separate line plots. What is the interquartile range for both sets of data? 

A. Last year=15, this year=20 

B. Last year=30, this year=50 

C. Last year=10, this year=20 

D. Last year=15, this year=30 

9. Evaluate the following expression.

𝟔𝟑+ 𝟑𝟐 

A. 319 

B. 112 

C. 24 

D. 225 
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10. Solve the following inequality.

5x < 15 

A. x < 2
B. x < 3
C. x < 4
D. x < 5

11. About what is the circumference of the following figure?

A. 441 cm 

B. 132 cm 

C. 221 cm 

D. 120 cm 

12. Olivia studied her local squirrels and wanted to estimate the squirrel population on her

street. She caught 32 squirrels, marked them, and released them. Later, she caught 50 

squirrels and noticed that 8 of them were marked. To the nearest whole number, what is the 

estimated squirrel population? 

A. 150 

B. 506 

C. 1504 

D. 200 

13. Solve for x.

98 ÷  x = 7 

A. 14 

B. 7 

C. 19 

D. 12 

14. Tara is buying pumpkins to sell at this year’s fall festival. Last year she ordered 14 pallets

of pumpkins, but does not remember how many pumpkins come on each pallet. Last year’s 

records state that they sold 700 pumpkins with 28 left over. Which equation can Tara use to 

figure out how many pumpkins come on each pallet? 

A. 728p=14 

B. p=728-14 

C. 14p - 28=700 

D. 14 + p = 728 
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15. What is the area of the circle?

A. 206 cm squared     

B. 410.7 cm squared  

C. 144 cm squared 

D. 113.1 cm squared 

16. Mr. Brown asked all of his students to name their favorite sport. He revealed the data

using a circle graph. What sport was most popular? 

A. Dance    

B. Dodgeball 

C. Rugby 

D. Basketball 

17. Nancy has a 64.5 oz. bottle of water. She wants to finish the water in 12 hours. How much

water will she need to drink per hour? 

A. 5.4 oz. 

B. 6 oz. 

C. 7.5 oz. 

D. 5.8 oz. 

18. Leonard is looking to buy a watch that costs $299.99. Today, the watch is 25% off. How

much will the watch cost with the sale? 

A. $215.99 

B. $199.00 

C. $250.00 

D. $224.99 

19. Justin made a scale drawing of his local pond. The pond, which is 80 yards wide in real

life, was 8 inches wide in the drawing. What scale did Justin use? 

A.  1 in = 7 yd 

B.  1 in = 8 yd 

C.  1 in = 6 yd 

D.  1 in = 10 yd 
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20. Which type of graph would be best used to demonstrate how many people prefer walking

over running? 

A. Line graph 

B. Bar graph  

C. Circle graph 

D. Double bar graph 

21. Jeremy has 3 gallons of chocolate ice cream. How many quarts of ice cream does he have?

A. 12 

B. 10 

C. 8 

D. 15 

22. What is the surface area of the figure rounded to the nearest tenth?

A. 290.7 square in 

B. 296.7 square in 

C. 240.9 square in 

D. 323 square in 

23. Cary flipped two coins simultaneously. What is the sample space of this event?

(Heads=H and Tails=T) 

A. S = {HH, HT, TT, TH} 

B. S = {HH, HT, TT} 

C. S = {HH, HT} 

D. S = {HH, TH} 

24. Which of the following graphs has a proportional relationship?

 A   B C   D 
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25. A cylinder has a height of 12 yards and a radius of 4 yards. What is the volume of the

cylinder? 

A. 480.12 square yards 

B. 48 square yards 

C. 603.19 square yards  

D. 304.19 square yards 

26. Julie has 20 golf balls, and 4 of them are green. If she randomly chooses one, what is the

probability that she will pick a green ball? 

A. ½ 

B. 1/16 

C. 1/20 

D. 1/5 

27. Penelope is baking cakes. There is a proportional relationship between the number of

eggs she uses (x) and the cups of flour she uses (y). What is the constant proportionality? 

X Y 

1 egg 2 cups 

2 eggs 4 cups 

3 eggs 6 cups 

4 eggs 8 cups 

A. 2 

B. 1 

C. 4 

D. 6 

28. Georgia flipped a coin 1 time. What chance does she have that it lands on tails as a

percentage? 

A. 75%  

B. 25% 

C. 10% 

D. 50% 
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29. Which of the following graphs is proportionate with the table?

A.  B. 

 C.  D. 

30. A coffee shop recently sold 15 meals, including 3 tacos. What is the experimental

probability that the next meal sold will be a taco? 

A. 1/15 

B. 2/7 

C. 1/3 

D. 1/5 

31. Complete the following table.

A. y = 0, 2, 4, 6 

B. y = 0, 1, 2, 3 

C. y = 2, 4, 6, 8 

D. y = 1, 2, 3, 4 
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32. Every Sunday, Jake picks flowers from the local field for his YMCA class. There is a

proportional relationship between the number of flowers Jake picks (x) and the number of 

kids in his class (y). There are 8 kids in the class, and Jake picks 16 flowers. What is the 

relationship between x and y? 

A. y = 3x
B. y = x
C. y = 2x
D. y = 5x

33. Hilda has a large cylinder that she is trying to wrap with paper. The cylinder is 10 inches

long, and has a radius of 3 inches. How much wrapping paper will she need to cover the 

whole cylinder? 

A. 321.45 square inches 

B. 402.60 square inches  

C. 200 square inches 

D. 245.04 square inches 

34. Solve for x.

-3(-2x +7) = 114 

A. 19 

B. 22.5 

C. 16 

D. -13 

35. What is the central angle of the green section of the graph?

A. 120° 

B. 45° 

C. 126° 

D. 112° 

36. What is 7/10 as a decimal?

A. 0.007 

B. 0.07 

C. 0.7 

D. 7.7 
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37. If a $80 jacket is  a 15% off, what is the sale price??

A. $66.00 

B. $46.00 

C. $94.00 

D. $62.99 

38. What is the area of the following figure?

A. 27 square cm 

B. 45 square cm 

C. 125 square cm 

D. 21 square cm   

39. A bus driver counted the empty number of seats on 7 rides throughout the day. What is

the range of the number of empty seats? 

(1, 1 ,3, 4, 5, 2, 6) 

A. 5 

B. 1 

C. 2 

D. 6 

40. Evaluate.

𝟏/𝟐𝟒 

A.1/8 

B. 1/16 

C. 1/12 

D. 1/48 

41. What is the product of  -7 x 3?

A. -21 

B. 21 

C. 28 

D. -28 

42. How many miles is 5 km? Round to the nearest whole number.

A. 2 

B. 4 

C. 1 

D. 3 
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43. Sarah rolls a single die. What chance does she have of rolling a 5?

A. ½ 

B. 1/3 

C. 1/6 

D. 1/5 

44. Which of the following is equivalent to the expression?

-2(9a+7) - (-2a-1) 

A. -16a-13 

B. -20a-14 

C. 16a+13 

D. 20a-14 

45. Solve the following equation.

29.32 ÷ 4 = ? 

A. 8.92 

B. 6.12 

C. 7.33 

D. 5.67 

46. Hexagon J is a scaled copy of Hexagon K. What scale factor takes Hexagon J to Hexagon

K? 

A. 2/1 

B. 5/1 

C. 5/2 

D. 4/2 

47. What is the interquartile range of the data set?

(11,13,14,22,54,56,72) 

A. 11 

B. 43
C. 22 

D. 56 
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48. Solve the following equation.

-⅖ x -½ 

A. -1/5 

B. 1/5 

C. 2/7

D. -2/7

49. Represent the following as an equation.

A. 26= 3r + 6.5 

B. 26= 3(6.5r) 

C. 6.5+r = 3(26) 

D. r + 26= 6.5     

50. Complete the following table.

y=1/2x 

x y 

2 

4 

6 

8 

A. y= 1/2, 1/4, 1/6, 1/8) 

B. y= (0,1,2,3) 

C. y= (1,2,3,4) 

D. y= (4,8,12,16) 
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